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QUESTION 1

Push the Exhibit Button to load the referenced "testml.xsd".

[testml. x3d]
<¥3:i=chema
¥mlns:xs="http://wrw.wd.org/ 2001/ IML3chema™ >
LHElelement name="IestiL" CLYpESTLeEdtmlliype™ />
<xs:icomplexType aame="testmlType'>
<H3:3equence:
<xa:element —ef="perason”
maxXlcours="unbounded"™ />
<fxs:i1s3equencex
</®s:icomplexTyper

<xzielement name="person’ type="peraonType’™ o
<xs:complexType aame="personType":=
<X3:Seqguences
<xa:elewment sef="name" />
<us:element zef="phone"™ />
</ %31 8equence>
</wa:complexTyper

<ys:element name="name" type="xs:string"™ />
f<xz:ielement name="phone" type="xs:scring™ S
</ws:ischemasr

Assume that "testml.xsd" is defined. Without rewriting this XML Schema Document ("testml.xsd"), create a new,
separate XML Schema Document to partially change the schema definition to write a cellPhone element as a child
element of the person element. As a result, the following "XML Document” will be valid against the new schema. Which
of the following correctly describes the new XML Schema Document? Assume the XML parser correctly processes the
XML schema schemalocation attribute.
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[EML Document]
<TestML>
<pErIon:>
<name>John Smith</ nemes
<phone>03-0000-29929</ phone >
<pellPhone>000-1111-2222</cellPhones
</ personx
</ TestML>

(" A& <ws:schema xmlns:xs="hctp://wuw.ws.org/2001/XNLSchema™:
<H5:import schemalLoocation="testml.xsd" [f>
~Xs: complexType name="personType" >
<xS:sequences
<Hg:element ref="name" />
<xs:element ref="phone" />
<xg:element ref="cellPhone" />
</ w31 sequencex
< fxs:complexType:-
<xarelement name="cellPhone™ type="wxz:istring™ />
</ ®s:3chemar

" = <#s:ischema ¥mlns:=s="http://vuw.w3l.org/2001/ XML 3chemat >
<x5:incinde schemalLocation="testml.xsd" [f>
XK= :complexType name="newPersonType" substitutionGroup="personType'">->
XS 3equUEnces>
f<xg:element ref="name=" />
fxs:element ref="phone" />
fxg:element ref="cellPhone™ />
</ wasequences
<frsivumplexType-
<xs:element name="cellPhone”™ cype="uxs:scring” />
</ xa:achemas

£ S <x3iachema xmlns:xs="http://www. w3 . org/ 2001/ XNLSchema' >
<uziredefine schemalocation="testml.xsd":>
<xz:complexType hawe="personType’>
<¥SicomplexContent>
fxZiextension base="personType">r
<HS: SEQqUENCER
<xs:element ref="cellFPhone™ />
</ HE:sequencer
£/ HsexXtensions
</ wa:icomplexContent >
</us:complexTypesr
</Hs:redefiner
<xs:ielement name="cellPhone”™ type="xs:string”™ /»
</ x5 schemas

G ] It iz not possible to implement & function of the type proposed.

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C
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QUESTION 2

Push the Exhibit Button to load the referenced "XML Document".

[ZHML Document]
<TestML>
<record:>
<levelx1</ levels
<datarx100</dataxr
</ record:>
<record>
<levelz2</ levels
<datax250<//dacax
</ recordsr
</ TescML>

Create an XML Schema Document for "XML Document". The definitions of this XML Schema Document require that the
value of the level element must be singularly unique within the XML Document. Which of the following correctly
describes the XML Schema Document?
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T L <xs:schema xmlns:xs="http:/ www.wd.org/2001/EMLEchema s
«<#=g!element name="TestML" type="testmlType'":>
<Xz :unigue name="levellUnigue'>
<xs:selector xpath="recordflevel" /-
<xs:field xpath="recordflevel" f>
< fxs:unigue
<fHs:element >

<x3:complexType name="testmlType":>
<XS5:Sequence:
<xzielement ref="record" maxOccurs="unbounded” />
</®3:39equence>
</xs:complexTypes

<xs:element name="record" type="recordType" f>
<xz:icomplexType name="recordType":
<X¥S:iSequence:
<xs:element ref="level" />
<xs:element ref="data" />
</¥3:3equence>
</x3:complexTypes>

<x3:element name="level" cype="xs:int" JS>
<xg:element nawme="data” type="xs:int" />
</ xs:schemas>

* F <xs:schema xmlns:xs="http://wvw.wd.org/2001/EML3chemas
<xg:element name="TestML" type="testmlType":>
«<xs:unigue name="levellUnigue':
<x=:selector xpath="record" jf>
<uz:field xpath="level" jf>
< fxs:unigque>
<fxs:element:-

<xs:complexType name="testmlType':
<¥3:Sequence:
<xs:element ref="record” maxOccurs="unbounded” />
</¥3:sequence>
</x3icomplexTypes

<x=:element name="record" type="recordlype" jf>
<xs:conmplexType name="recordType™:>
<XS:SEqUENCER
<xs:ielement ref="level™ />
<xs:element ref="data" />
</ ®¥3:sequences
</uz:icomplexTypes>

<¥s:element name="level"™ type="xs:int" />
<x=:element name="data" type="xs:int"™ />
</ xs:schema>

| Gl o <xs:schema xmlns:xs="htop://www.wd.org/2001/ZMLEchemars
<H=:element name="TestML" type="testmlType" [
<¥s:complexType name="testmlType™:>
<X SEQUENCE:
<xs:ielement ref="record" maxCOccurs="unbounded™ />
</¥3:2eguUEnCE>
</®sz:complexTypes>

<Hs:element name="record" type="recordType'">
“<xs:unigue name="levellnigue"
<xs:selector xpath="level" f>
<xs:field xpath="level" jf>
< fus :unigque>
<fxs:element>

<xs:complexType name="recordType™:>
<XS:iSEqUENCE>
<xs:element ref="level™ />
<xs:element ref="data" />
</ ¥s:sequencer>
</®z:complexTypes

<xs:element name="level™ type="xs:int" />
<w3:element nawe="data" type=Txz:int™ />
</xs:schemas

' D <xs:schema xmlns:xs="http://www.wd.org/2001/XMLSchema ™
<xs:element name="TestML" type="testmlType" f-
<xs:icomplexType name="testmlType>

<XS:Sequence:
<xs:element ref="record" maxOccurs="unbounded" />
</¥s:sequence’>
</us:complexTypes

<x%:element name="record" type="recordType':>
<Hs:unigue name="levellUnigue">
<Hs:selector Hpath="level" jf:
<xs:field xpath="." f>=
< fxs unigque>
<fxs:element >

<xs:complexType name="recordType":>
<XS:iSequence:
<xg:element ref="level” />
<xs:element ref="data' />
</¥5:isequencex
</%s:icomplexTypes

<¥3:element name="level”™ type="xsS:int" /S>

<¥z:element name="data” type="xs:int" />
</ ®=:schemas

110-002 PDF Dumps | 110-002 Practice Test | 110-002 Exam Questions


https://www.leads4pass.com/i10-002.html
https://www.leads4pass.com/i10-002.html
https://www.leads4pass.com/i10-002.html

https://lwww.leads4pass.com/i10-002.html
2024 Latest leads4pass 110-002 PDF and VCE dumps Download

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 3

Select which of the following correctly describes the results of performing a validation check on "XML Document"”.
Assume that the XML parser correctly processes the XML Schema schemalocation attribute.

[ZML Document]
<TestlL xmlns="urhn:xXmlmaster:cestml™
xmlns:xsi="http:/ vvw. w3 .org/ 2001/ XML3chema-instance™
¥xal:achemalocation="urn: smlmascer:testml tcestml.xsd":>
<record lewel="1" data="100" />
<record lewvel="Z"™ dats="2Z50" />
</ TestML>

[Cestml.xsd]

“x3:3chema
tnlna:xa="htecp:/Sfvww. w3 . org/ 2001/ XMLSchema™
targetMNamespace="urn: xmlraster:testml”
*xmlns:ctns="urn: xmlwaster:testml'=>

<¥3:import namespace="urn:xmlmaster:testml™
achemalocation="record. xsd™ />
<xa:element name="TeatML" type="tna:testmlType™ />
<¥s:complexType name="testmlType":>
XS Ssequence>
<x3aielewment ref="tna:record” maxOccurs="unbounded" />
</ w31 3equences
</uz:complexTypesr
</ ®3:schemar

[record.xsd]
<X3:3chema
mlna:ws="http://fuuw. w3 . org/ 2001/ XMLSchema ">
<us:element name="record" type="recordType" /=
<xg:complexType name="recordType">
<xa:attribute nawe="lewvel"™ type="w3:int"™ S
<us:attribute name="data" type="xs:int"™ S=
</®aicomplexTypes
</ w3arschemasr

A. Valid

B. The coding for the XML Schema Document is not appropriate; therefore, an error is thrown (initial error)
whenprocesing the "testml.xsd" import element

C. The coding for the XML Schema Document is not appropriate; therefore, an error is thrown (initial error)
whenprocesing the "testml.xsd" "

D. No processing error, but is not valid.
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Correct Answer: B

QUESTION 4

Under the SAX specification, which of the following is a method for determining whether to validate a document with the
SAX parser?

A. Use the getFeature method of XMLReader interface to look up the feature value under the name
"http://xml.org/sax/features/validation”

B. Use the parse method of XMLReader interface to investigate whether an error occurs
C. Use the parseWithValidating method of XMLReader interface
D. Use the isValidatingParser method of XMLReader interface

Correct Answer: A

QUESTION 5

Which of the following is clearly an unnecessary step in procedures to create digital signature via XML-Signature?
A. Prepare a key for signing

B. Normalize the subject of the signature (normalization via Canonical XML, etc.)

C. Remove namespaces in the subject of the signature

D. Calculate a digest of the subject of the signature

Correct Answer: C
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